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20128 &= =04k LBESIH JIEIS 83N ot 2elgg2 ~ st ztelgeE

SN SRS YR
o AN OB (IELX AN/ AR)
Sl NS of & T (9l &2
_ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SRR T 43,242,535 41,870,099 1,372,436
2 17,497,000
Al 25,745,535
SN SHE T (RELX SN/ 4 X2 43, 184,360 41,100,865 2,083,495
HDSE : ABPH GHEFUIZ SIEZHIE M
2 17,497,000
Al 25,687,360
Reig o & F 38,445, 100 36, 174,065 2,271,035
HDNE 1 SHEBYIE
AT SHEX :62.3 %
2 17,497,000
Al 20,948,100
H2E I 500,000 2,000,000 1,500,000
2 500,000
401 AlEBlL =Tyl 500,000 2,000,000 A1,500,000
2 500,000
01 Al 500,000 2,000,000 1,500,000
D Z| 500,000
2 500,000
SHHANM 379,100 1,300,177 A930,077
2 187,000
Al 192, 100
203 PREZH| 2,000 2,000 0
03 AIMEZ AR EY] 2,000 2,000 0
S HAHLMY 2T 2,000
01 Yer2 a3 3,100 3,177 ATT
00 TADRRAUBNZ 3,100 3,177 AT
=3 91,0502 122 1,093
S| 10,0002 #1228 1,320
nEHl 57,2002 %128 687
401 AlEBIL 2 ThY| 374,000 1,304,000 930,000
2 187,000
Al 187,000
01 Al 374,000 1,304,000 930,000
Sd AN 374,000
2 187,000
Al 87,000
SEd 83 1,669,000 5,463,000 3,794,000
2 1,000,000
Al 669,000
203 PREZH| 2,000 2,000 0
03 AMEHYLEHY] 2,000 2,000 0
SHH ZEIUANY Y= 2,000




SN SRS YR
Hu: ABAN SHHTH(IEUXANL/HFTR)
©el XtelE ot F| (2ol e
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
401 Al HIZ S THH| 1,667,000 5,461,000 3,794,000
2 1,000,000
A 667,000
01 Al 1,667,000 5,461,000 3,794,000
e&d M7 T 1,000,000
2 1,000,000
% RS 667,008 B 0
SHH ST (HRAE) 667,000
SUA otF MECIE X4 1,987,000 0 1,987,000
401 Al HIZ S ThH| 1,987,000 0 1,987,000
01 Al 1,987,000 0 1,987,000
SYY OB MEGHE ZS (WA 1,987,000
StEmHl HE +¥ 508,000 720,000 A212,000
201 ere eyl 8,000 0 8,000
01 AtR 2] 8,000 0 8,000
=nf] 8,000
N INEEEE T 500,000 720,000 220,000
01 Al 500,000 720,000 220,000
CESPIES ERS 350,000
ST NETH DAHE 2 150,000
Soa | 1,000,000 1,000,000 0
2 1,000,000
S INEEETE T 1,000,000 1,000,000 0
2 1,000,000
01 Al 1,000,000 1,000,000 0
SuE Zy| 1,000,000
2 1,000,000
S o7 MEsE=E 1,086,000 1,586,000 500,000
401 Al Bl L2 Thbl 1,086,000 1,586,000 500,000
01 Al 1,086,000 1,586,000 500,000
S Ol MECIE SR (WRYE) 1,086,000
stEarzl AglesEe XE 130,000 130,000 0
307 212+ 130,000 130,000 0
02 AP ARE 130,000 130,000 0
SastEaR)l Ag2SES K 130,000
=0t Z| 500,000 1,700,000 1,200,000
2 500,000
401 Al Bl L2 Thb| 500,000 1,700,000 1,200,000
3 500,000
01 Al 500,000 1,700,000 1,200,000




SN

=R gévgva&lDsf@%u|(2§2-mw+g/¢m%)
@ NHE ot S| (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
H0Ot& bl 500,000
= 500,000
SA SlF Jo| 1,180,000 1,487,000 A 307,000
= 500,000
Al 680,000
401 AIEBIZ 20| 1,180,000 1,487,000 307,000
= 500,000
Al 680,000
01 Al&HI 1,180,000 1,487,000 A307,000
SO (otR) MEiota =4 500,000
= 500,000
 MWREE 333,00083 H& 0
SAA olF MEIoIE ZH (MBS 680,000
ZHotA H b 500,000 1,500,000 1,000,000
= 500,000
401 AlAHIL 20| 500,000 1,500,000 1,000,000
2 500,000
01 Al&HI 500,000 1,500,000 A 1,000,000
ZHotA AH| 500,000
= 500,000
= MEISHE X4 2,167,000 2,000,000 167,000
= 500,000
Al 1,667,000
401 AlEHIZE20UHI 2,167,000 2,000,000 167,000
= 500,000
Al 1,667,000
01 Al&H| 2,167,000 2,000,000 167,000
PSH(AMR) MEod X4 833,000
= 500,000
Al 333,000
LEAM(AF) MEHSIE M (RHR A4S 1,334,000
S-S PSP 6, 166,000 2,000,000 4,166,000
= 2,500,000
Al 3,666,000
401 AlEHIZL L] 6,166,000 2,000,000 4,166,000
= 2,500,000
Al 3,666,000
01 Al&HI 6,166,000 2,000,000 4,166,000
SEA A 2,500,000
= 2,500,000
¥ WREY 1,667,00083 S5 0
SEA MU (JHRAEH 3,666,000
UEA FHI 5,100,000 2,000,000 3,100,000
= 2,500,000
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ol AEPN AT (FELNNL /S X2)
Sl XIS otE Z | el

_ _ _ N E
SNBSS - HRAY - BHES Aboy o HIRZE2

Al 2,600,000

401 AIEHIL S 5,100,000 2,000,000 3,100,000
= 2,500,000
Al 2,600,000

01 Al£HI 5,100,000 2,000,000 3,100,000
U H| 2,500,000
=2 2,500,000
% HPPE 1,667,00082 e 0
UHH FH(HPaE) 2,600,000

SEAR F| 800,000 850,000 50,000
= 800,000

401 AI&HIL S| 800,000 850,000 50,000
=2 800,000

01 Al&HI 800,000 850,000 50,000
SHE 47 ZH 800,000
= 800,000

S nEtol ¥ x4 5,516,000 2,430,000 3,086,000
=2 3,000,000
Al 2,516,000

401 AIAHIL S| 5,516,000 2,430,000 3,086,000
2 3,000,000
Al 2,516,000

01 Al&H| 5,516,000 2,430,000 3,086,000
StAM nEol ¥ XY 3,000,000
2 3,000,000
% THPRE 2,000,008 L 0
SAM Do A XY (HPHE) 2,516,000

SHE Bl 1,867,000 2,000,000 £133,000
=2 1,000,000
Al 867,000

401 AIAHIL S| 1,867,000 2,000,000 £133,000
2 1,000,000
Al 867,000

01 Al&H| 1,867,000 2,000,000 133,000
SHE B 1,000,000
2 1,000,000
% THRRE 667,008 EE 0
S FH(HPaE) 867,000

SFE H| 1,500,000 500,000 1,000,000
= 1,500,000

401 AIEHIL S 1,500,000 500,000 1,000,000
= 1,500,000

01 Al£H| 1,500,000 500,000 1,000,000
SFE Hy| 1,500,000




A otz g2
HH: SAXN SIHEFH (2 ELXNANL/=TH)
el AHE otdEH (etel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
= 1,500,000
¥ MWRFE 1,000,003 E& 0
MEA FH| 500,000 500,000 0
= 500,000
401 Al&HI LS04I 500,000 500,000 0
= 500,000
01 Al&HI 500,000 500,000 0
dER FHl 500,000
= 500,000
¥ SRS E 33300083 5 0
g MEfotd =& 1,420,000 1,000,000 420,000
710,000
710,000
401 Al&HIZL=ROHYI 1,420,000 1,000,000 420,000
710,000
710,000
01 Al&EHI 1,420,000 1,000,000 420,000
=gd MEjotd s 1,420,000
710,000
710,000
o™ MEfotd =2 400,000 0 400,000
200,000
200,000
401 Al&HI LR OHYI 400,000 0 400,000
200,000
200,000
01 Al&HI 400,000 0 400,000
CHH A MENGHE =& 400,000
200,000
200,000
& SgetE3 | 3,370,000 0 3,370,000
401 Al &HIL 201 3,370,000 0 3,370,000
01 Al&HI 3,370,000 0 3,370,000
SAHEE WAL 1,870,000
¥ JHPERE 1,000,008 E 0
S S8 H Fd| 500,000
=& 2XE(KIXXIots) &2 1,000,000
=F2 olF MEHctE SRAY 200,000 0 200,000
= 100,000
Al 100,000
401 Al&HIZL=RHYI 200,000 0 200,000
= 100,000
Al 100,000
01 AlEHI 200,000 0 200,000




SN

stezelg e
ol AEPN AT (FELNNL /S X2)
Sl XIS otE Z | (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
S 5t MEIGHE =@ AR 200,000
= 100,000
Al 100,000
SEX0 5d 22l 4,739,260 4,926,800 A187,540
HDXNE 1 &3 BOIAL DI
ST SEX 5 Of
stEsxaY X 2,384,000 3,424,000 A1,040,000
308 X+XI IS Ol & 2,384,000 3,424,000 A1,040,000
01 MASHHZAHSEZ 2,384,000 3,424,000 1,040,000
Ml 285H 29| 24,000
2HH RX84 22 2 *N 2L 800,000
SH RX84 22 2 2K 600,000
SEE RNE4+ 23 150,000
M2 2AH RX8% 22 60,000
~9Y =5 |N8+ 22 150,000
SASBEIR ST e 600,000
B4BIE 5 HOIAL D 1,200,000 1,200,000 0
403 XHXIGHAI S XH2 0| & 1,200,000 1,200,000 0
01 MXSHIEEE 1,200,000 1,200,000 0
BI4BEY CSHIAL DA 1,200,000
Nsta Bl As 2as) 4,760 2,800 1,960
201 Y2yl 4,760 2,800 1,960
01 AFR 22/t 4,760 2,800 1,960
SHEB2IPIAE SHEY 70,0008 %172 43l 4,760
S4% FHl ¥ otd =& 1,000,000 300,000 700,000
403 RXISHSKHZO0IH 1,000,000 300,000 700,000
01 MXISHA=EE 1,000,000 300,000 700,000
B R4X L old E=4 1,000,000
MUz Sl CAsE oSl 25,500 0 25,500
201 Yereg| 24,500 0 24,500
01 AtRZelt| 24,500 0 24,500
siEEX =yl 24,500
203 4R =Y 1,000 0 1,000
03 AIMZZ ARSI 1,000 0 1,000
U2 Z0ls Ta6HE BHS)| A2Ex 1,000
CEEHTE HAUEX Ofe 125,000 0 125,000
401 AEHILS0 125,000 0 125,000
01 Al 125,000 0 125,000
CEEOE HYUEX HY 125,000




SN slERlgE
B w2 (SE Y B)(IIEIIE)
crel: Ol =2y R
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0] & 08 i HIREY
HY2I Pl (ot 22l 2) (JIEH/IIE 58,175 73,055 214,880
Jl23l 58,175 73,055 A 14,880
Jl=&d| 58,175 73,055 A 14,880
201 et 22,840 28,120 A5,280
01 AtS22lHl 22,840 28,120 25,280
fEAEE Jl==s2H| 11,500
=R+ S| 11,340
202 O4Hl 32,335 40,735 28,400
01 =W 32,335 40,735 28,400
2 SE I 25,200
22l EF NI 7,135
203 HRF&Hl 3,000 4,200 A 1,200
04 FN2ILRFAHI 3,000 4,200 21,200
SEASIYRFAH 250,000& «12& 3,000




